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=4
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ene | X 075 0 4 22 0 0 0 0 0 0] A& 26
FrvEE T
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Bl ® 60 0 7 31 0 0 0 0 0 0| & 38
EDE | 475 0 0 4 0 0 0 0 0 o| 1 4
6 90 0 0 0 0 0 0 0 0 0| & 0
BN 0.0 1.3 7.6 0.0 0.0 0.0 0.0 0.0 0.0] t 8.9
£HHE 0.0/ 151.9] 838.6 0.0 0.0 0.0 0.0 0.0 0.0 m3 990.5
+
#RHI BH 0.0l 36.7] 228.3 0.0 0.0 0.0 0.0 0.0 0.0| m3 265.0
T (EmEiE 0.0 88.6] 502.4 0.0 0.0 0.0 0.0 0.0 0.0 m2 591.0
ea 0.0l 27.7] 176.0 0.0 0.0 0.0 0.0 0.0 0.0| m3 203.7
%
R 0.0 8.8] 51.5 0.0 0.0 0.0 0.0 0.0 0.0 m3 60.3
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zif;z,— ) i THESR: (m) [EXE{ED) TFH ) 90°LFE(AR) 45’ LFE(R) YTER) W r o bR | A EOR) 1EDERD B PEBRIE R (m)
T 660 675 ¢90| ¢60| ¢75| ¢90| ¢60| ¢ 75| $90| ¢60| ¢ 75| 90| ¢60| ¢75| ¢90| $60| ¢75| $90| 60| 75| ¢ 90| s60x75|675x90| $60| $T5| $p90| $60| ¢ 75| ¢ 90
24 | O | 25.6 42 1 0.24
K L@ | 335 56 1 0.08
= | @ | 33.6 56 1 0.08
A @ | 33.7 56 1 0.16
2 126.4 210 4
WAEB | 32.0 52 2 1 1 1 2 0.81
107 | O | 27.4 45 1 0.24
K L@ | 26.4 44 1 0.08
= | @ | 254 42 1 0.16
A
2 | 79.2 131 3
WAEB | 15.7 25 1 1 1 1 2 0.58
WokiE EMEa EekER
zif;z,— & i THESR: (m) [EXE{ED) TFH ) 90°LFE(AR) 45’ LFE(R) YTER) W ro bR | A ER) 1EDERD
T 660 675 ¢90| ¢60| ¢75| $90| ¢60| ¢ 75| $90| 60| ¢ 75| 90| ¢60| $T5| ¢90| $60| ¢75| $90| 60| 75| ¢ 90| ecox7s| 6590 $60| 75| ¢ 90
WAEA  [205.6] 0.0[0.00| 341 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 7 0 0
W AEB 47.71  0.0] 0.00 77 0 0 3 2 0 2 0 0 0 0 0 0 0 0 0 2 0 4 0 0 0 0
gt 253.3] 0.0/ 0.0] 418 0 0 3 2 0 2 0 0 0 0 0 0 0 0 0 2 0 4 0 7 0 0
WK S NEERE R
_— 1855 (kg) T5% (kg) 90°L 74 (kg) 45°'L 74 (kg) Y7 (kg) W roike) | FEE ke 1 E (ke) i
P P 660 675 ¢90| ¢60| ¢75| ¢90| ¢60| ¢ 75| $90| ¢60| ¢ 75| 90| ¢60| GT5| ¢90| $60| ¢ 75| ¢ 90 |e6ox7s| 0r5x9%0[ $60| 75| 90 S 0)
3.0kg/A<| 4.0kg/ 7| 5.5kg/A| 1.8kg/A| 2.5kg/A| 3.0kg/A<| 1.3kg/A<| 1.8kg/A<| 2.5kg/A| 1.2kg/A| 1.Tkg/A| 2.2kg/A| 2.0kg/A<| 2.9kg/ A< | 3.8kg/A<| 0.9kg/ 7| 1.2kg/A| 1.6kg/ 4| 0.9kg/A| 1.0kg/A<| 0.2kg/H2| 0.3kg/Hz| 0.4kg/*#z
WAEA  [1023.00 0.0 0.0l 0.0 0.0l 0.0l 0.0 0.0 0.0 00| 0.0 00| 0.0 00] 0.0 00] 0.0 0.0] 0.0/ o0.0] 14| 0.0 0.0 1.0
W AEB 231.00 0.0 0.0 54| 5.0 0.0] 26 0.0] 0.0 0.0] 0.0 0.0] 0.0 0.0 00| 0.0 24 0.0 36| 0.0 0.0] 0.0 0.0 0.3
2t 1254.00 0.0 0.0l 5.4| 5.0 00| 26 0.0] 0.0 0.0] 0.0 0.0] 0.0 0.0 00 0.0 24 0.0 36 0.0 1.4] 0.0 0.0 1.3
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&y 60| ¢75| $90| 660 ¢75| 90| 6 60| ¢75| 90| 6 60| ¢75| 90| v 60| ¢ 75| 90| ¥ 60| 6 75| 90| 60| 75| 90 [esox7s| 675x90| $60| 75| $¥90| ¢60| ¢ 75| ¢ 90
26 | g ) 9.3 15 1 0.21
7K @ | 40.1 67 1 0.08
B | ® | 564 93 1 1 1 0.68
Al @ | 198 33 1 0.13
Bt [125.6 208 1 1 4
WAKIEB | 22.7 37 1 1 1 1 9 0.61
2T | @ | 27.3 45 1 0.21
X, L@ 43.9 73 1 0.08
6] 49.3 82 1 0.08
A 7.5 12 1 0.24
g 34.8] 93.2 57| 155 2 2
% AKIEB 30.0 49 3 1 9 0.46
28 | 10.5 17 1 0.24
X, L@ 41.1 68 1 0.08
HS ) 47.6 79 1 0.08
A 39.3 65 2 1 0.31
i 49.8] 88.7 82| 147 2 2 2
% AKIEB 1.0] 28.6 1| 47 3 1 9 0.34| 0.43
29 | g | | 229 38 1 0.21
* L@ 4.8 8 1 0.16
i%
A
it | 27.7 46 2
% AKEB 7.7 12 1 1 1 9 0.38
30 | g 70.0 116 1 1 0.44
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i 1238.0 395 1 4
WAIEB | 12.7] 12.8 21| 21 2 1 1 3 0.38] 0.23
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7K @ | 25.1 42 1 0.08
B | ® 213 45 1 1 0.39
A 12.7 21 1 0.13
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A
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AIEB | 26.2 43 1 1 1 1 9 0.58
109 |y | @ | 295 49 1 0.16
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gt [118.6 197 4
12.9+26.6
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i 60| ¢75| 90| 660 ¢75[ 90| 660 ¢ 75| 90| 6 60| ¢75| 90| ¥60]| ¢ 75| 90| $60| 6 75| 90| 60| ¢ 75| 90 [esoxrs|65x0| $60| 75| $90]| $60| ¢675] ¢ 90
1| g | @ | 150 25 1 0.24
A L@ | 17.7 29 1 0.08
" | ® | 182 30 1 0.16
A
i [ 50.9 84 3
AKIEB | 18.4 30 1 1 1 1 2 0.58
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